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’ 100kN/mM%#BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM#%#8% % = -~ = —-|3m%xHZ5 -~ = = =
s 1.00/0.00 ~ 5.09 63.43] =hLls |000 ~ 509 1.62 8.20 Lo 1.00] 5.00 ~ 5.60 63.43] TnLst | 500 ~ 5.60| 1.62 8.20]
9 100kN/mM%E{BZ % -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
s 1.00/0.00 ~ 6.20 77.87] =hLls 000 ~ 6.20] 1.57 7.91 Lo 1.00] 500 ~ 7.99 7787 =nlst | 500 ~ 799 1.57 7.91
3 100kN/mM%BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
s 1.00/0.00 ~ 6.63 83.68] = LS |000 ~ 6.63] 1.57 7.91 Lo 1.00] 500 ~ 9.01 83.68| =Lt | 500 ~ 9.01| 1.57 7.91
4 100kN/mM%{BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&x#Z5 -~ = = =
s 1.00/0.00 ~ 545 67.96] =hLls |000 ~ 545 1.70 8.57 s 1.00] 500 ~ 5.97 67.96] TnLst | 500 ~ 5.97| 1.70 8.57
5 100kN/mM%#BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&x#Z5 -~ = = =
s 1.00]0.00 ~ 5.31 66.23] zhLls 000 ~ 531| 1.61 8.13 s 1.00] 5.00 ~ 6.00 66.23| Tkt | 500 ~ 6.00] 1.61 8.13
6 100kN/m##8 %% 1.00{ 0.00 ~ 1.58 124.14| 3m%F#BZ 5 = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.73 ~ 16.74 124.14| 3m%Z#BZ % =l ~ = = =
L 1.00]1.58 ~ 9.37 100.00f Z=h st |0.00 ~ 9.37| 2.27 11.50 Lo 1.00] 5.00 ~ 10.73 100.00| =hList | 500 ~ 16.74| 2.27 11.50]
7 100kN/ Mm% 2 % 1.00[{0.00 ~ 0.72 110.74| 3mZEBZB| - ~ = - —| 100kN/m%i#B 2% 1.00( 11.04 ~ 13.50 110.74| 3m%E# 25 -~ = = =
Lt 1.00]0.72 ~ 8.51 100.00f =1 A4t | 0.00 ~ 8.51| 2.04 10.33 st 1.00] 5.00 ~ 11.04 100.00| =hlist | 500 ~ 13.50| 2.04 10.33
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~
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